Warm Up November 9, 2018
1) Th elow shows the total number of
days Francisco had used his gym membership at the end
of weeks 1, 2, 3, and 4.
4,9, 14, 19
Assuming the pattern continued, which function could
be used to find the total number of days Fransisco had

used his gym membership at the end of week, n?
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2.) Arectangle has a perimeter of @4 units.)T'he length of the
rectangle is(2 times 3 less than thfﬁ;;
is the width of the rectangle?
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What We Know So Far:

Adding and Subtracting Polynomials =

Combime  liky +uR™S

Multiplying Monomials and Polynomials =

‘mul‘r\'_P\\Il coofficients  add,
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Muliplying Binomids

®

Sh?s fol' '}Le bmt ne“not‘

1. Find the area of each small box. _ ,
2. Find the area of the large box by combing the areas of all four small boxes.

A. EXAMPLE: Use the box method fo find the product oG 1x+2))py finding the area of each
individuial box and then adding them fogether. Ezch binomial has Twd Terms. The side lengths of the

2. Combine all four small boxes together by
the areapf '| addition to find the total area of the large box
 each box ‘ = (x+2)(x+4)




B. As you work through the problems below, think about what is happening mathematioally with the fwo
binomidls. How is the area of' each small box determined? Try to recognize patterns or repeated
procedures:and affempt 1o derive a procedure to multiply the binomials that does not require the use
" boxes, - |

Directions: Use the box methed fo find the product of the binomials.

Lo(xr x+5) 2. (x+ H(x—3)




' C. Looking back  your work from part B, the box method, Md:outwpﬂlmorrepsﬂlad :
procedures that you did. For example, ﬁoweidyouf"mmearead‘m“bou’ o '

Describe a procedure that does not require the use of boxes to find 1he product of the two .
binomiais below.

S ( x+ LHQ(+ v)




D. Apply the method you desorbed in part G 1o find the. products below. DO NOT use the box method.




Binomial x Trinomial

*You cannot FOIL - only distribute or box
method.

1. (x + 4)(x* + 3x - 6) 2.(y+ 1)y’ +2y + 4)

3. (k=5)(k’-k-8) 4.(m + 3)(m’ + 3m + 5)




